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1985

1992
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20 60
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2500m’
300m’
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700°C
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20 70

1 1985
1200C 1250C 1995
6 1100 ~ 1150°C
1270°C 25 10
6 1150 ~ 1200C

1
2

3 11-1-2
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2

11-1-

2338.1

5.43

95.58

37.29

2536

35000

/t

/m?

3

1m

/m?

Im

/m?

/m* h~!

8900

48350

7594

36000

45.293

365.1

60596

60384

2

1

2

/mm

/mm

/mm

/mm

/m?

/m’

/m?

/m?

/m?

11-1-38

11-1-7

11-1-38

15t

T

11-1-7
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70

20

1513m’
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1150 ~ 1220°C 410 16 3

30
@ @
®)
3 9q.11
11-1-11b @
&)
co 0.0016% 20mg/m’ ®
@ 30mm 19
48.0m’>/m’ 48 .7m’/m’ 1.5
40% ~ 50%
50%
1386 ~ 3200m’
1
2
3
4
5
6
7

1263 -



1974 100m’
300 ~ 420m’

11-1-12a

7™

1264 -



11-1-12b
1
2
3 $40 ~ 60mm
$30 ~ 40mm
4
11-1-13 € 0.476 0.259
0.42
0.28
3
L OO
\V \
gg@ ©®
£=0.476 £=0.259
11-1-13
5:0'476;0'25920.367
5
Im’ m*/m’
f = % 1-¢ 11-1-1
Im’ t/m’
r=r, 1-c¢
m
2 e
d = 4€/f = ? 1_ €d
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s - 2 I}Te _ %%d
ro 1 2
7=fg%dkym
13 m’/m’
d— m
Yo 2700kg/m’
2200kg/m’
d =40mm 40mm x 40mm 40mm
O© 1Im’ 94.5m’/m’ 25m’/m’ 4
@ Im’ 40mm x 40mm x 40mm
25m*/m’  Im’ 1950 ~ 1600kg/m’ 78 ~ 64kg/m’  40mm
13 ~10.67kg/m’ 16.7%
©) 40mm 14.5mm
40mm x 40mm 2
10mm 40mm x 40mm 4
@ 40mm 13.3mm  40mm x
40mm x 40mm 57.5mm 4
1991 10 318m’
1 1m-1-3
11-1-3
100m? 318m’
1 / 3 3
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100m* 318m’
2
3 /m* min~! 400 900
4 /mm 14523 19567
5 /  /mm $4700mm / $4066mm $7300mm / $5992mm
2500) ( 2000)
6 /mm 6000( 3500 6500 7500
7 /mm 3198 4740
8 /m? 8.028 17.65
9 /  /mm $50mm /4>30mm $60mm /‘#40mm
42.25 )
10 /t 70.13 206.02( 16337
11 /m> 5066.7 12629.3
12 m’ /m* m~3 152 119.14
13 m’ /t m™3 2104 1943.6
14 /°C 1100
6
2 6.5m $60mm 2.0m
$40mm 4.5m
3
4
1080°C
75D
7ZSD
7ZSD 20% ~ 40%
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100 ~ 200°C

78D
11-1-14
spmE— ] ‘B(EV
4
s [l [
N
AT ™
N
11-1-14 ZSD
1993 1 300m’ 11-1-4
11-1-5
11-1-4 Z7SD
ZSD
/mm 5200 5200
/mm 31500 28492
/ 3 3
/mm 21000 22000
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78D
/m? 0.75 2.2
/m? 13.70 9.39
/mm $43 65 x 45
/m* m~3 38.08 29.36
It 450 327
/m? 10956 6065
Im? /m* m™3 109 60
Im’ /t m~3 4.5 3.27
/C 1093 8.84
/ 20 1
/m? 300 300
I11-1-5
/G /C /G /min
1992 882 1260 450 90 3
1993 6 844 1260 450 90 1 1 7ZSD
1993 9 1053 1265 450 60 1 2 78D
1993 10 1058 1265 450 60 1 2 78D
1993 11 998 1280 450 90 2 78D
1994 2 1093 1280 450 60 3 ZSD
10 300m’ ZSD
1080 ~ 1100°C 10
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11

11-2-1 %
Coz CcO H, N, 02
18.1 21.9 3.4 56.3 0.3 100
30°C
5% V.  =2000m’/
min ¢ =1050C ¢ =100C » =80% 8 3 “ ”
r =3h 7z, =1.83h ;= 1h At
=0.17h
100%
CH, CH,
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CO’, =b CO,
CO" =b CO
H, =b H,
, 79
N, =b Nz—jioz
b= 100
CO, + CO + H, + N,
b= 100O
2
100-521

co, €O H, N, 0, —
co’, C€O0'" H', N, —

79

_i 02

%
%

b—
b= 100 014
100 23
0.21
CO', =1.0145%x18.1=18.4
CO' =1.0145x21.9=22.2
H, =1.0145x3.4=3.5
, 79
N, =1.0145x (56.3-57x0.3] =55.9
100 - H,0
V = V XT %
g/m3
100
Vo=V 100 + 0.214gy %
y — %
y — %
H,0—— %

100%

11-2-1
11-2-2
11-2-3

11-2-4

11-2-5

11-2-6

11-2-7

11-2-28
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— o/m

&H,0
100 -5
5% V V 100 11-2-2
11-2-2 %
CO, co H, N, H,0 0,
18.1 21.9 3.4 56.3 — 0.3 100
18.4 22.2 3.5 55.9 — — 100
17.5 21.1 3.3 53.1 5.0 — 100
11-2-3
11-2-3 0.0lm’
co H, CH, CyH, Cy He CsHy C4Hyg H,S
/kl | 126.36 107.85 358.81 594.4 643.55 931.81 1227.74 233.66
Qow
Qpyw =126.36 CO+107.85 H, +358.81.CH, +594.4 C,H, +
+233.66 H,S kJ/m’ 11-2-9
chzH636x2L1+Kﬁ85x33:Nﬂ111kym3
La
1 b = b 1.05~1.10 1.10
L,
11-2-4
11-2-4
100m’ Jm’
/m’
S 0, €O, | H0 N,
O, 17.5 €0,—~CO, 17.5 17.5
co 21.1 €O+ 20,0, 10.55 21.1 21.1
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100m’ Jm?
P /m’ 0, co, | Ho | N,
H, 3.3 Hy + -0, ~H,0 1.65 3.3 | 33 | 33
H, 0 5.0 H, 0—~H,0 5.0 5.0
N, 53.1 Ny—~N, 53.1 53.1
b =1.0 12.2 45.9 45.9
b =1.10 1.22 1.22 4.6 5.8
/m? 1.22 38.6 8.3 103.6 151.7
/% 0.8 25.4 5.5 68.3 100
2 Im’ L,
L, =%i2=0.581m3
3 L,
L,=1.10x0.581=0.64 m’
4 Im’ v
V =1.517nm’
5 Q
Q =C -t L, 11-2-10
Q =1.302x20x0.64=16.67 kJ/m’
cC — t kJ/ m* C
r — C
6 Q
Q =¢C -1t -1 11-2-11
cC — ! kJ/ m* C
r — C
Q =1.357x30x1=40.7
7 Q
0 1Qm3+0 + Qow 11-2-12
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16.67 + 40.7 + 3022.11

_ _ 3
Q0 = 1517 = 2029.98 kJ/m
_ Q +0Q + Quy
¢ = T 11-2-13
r — C
c — t k]/ m* <C
c t Q
Ql
Q' =wu,; CO+ @y g Hy0+ o 0y +wy Ny kJ/m’ 11-2-14
wéoz whzo wbz w;\lz— CO, H,0 O, N, 101kPa
t kJ/m’
CO, H,0 0, N,— Im’ m’
1200°C  1300°C CO, H,0 0, N,
11-2-5
11-2-5 CO, H,0 0, N, 1200°C  1300°C kJ/m’
/C wco, @H,0 @o, o,
1200 2720.8 2120.4 1804.0 1724.5
1300 2991.13 2328.0 1907.13 1882.09
11-2-6 1200°C  1300°C 0!
11-2-6 1200°C  1300C kJ/m’
/C wco, @WH,0 wo, wN,
1200 692.53 116.02 14.43 1177.83
1300 759.75 128.04 15.74 1285.47
Q 2029.98kJ/m’ 1200 ~
1300°C t
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2029.98 — 2001 .41
t =1200+ 2180 — 2001 41 x 100 =1215C

Vot C -t C
7 Ve Quw+0Q +0Q

0 8_2000><60 1050 x 1.4618 — 100 x 1.3035
TV x1.833022.11+40.7+16.67

11-2-15

V =37491m’/h  37500m’/h
V =V - L

n

V. =37500 x 0.64 = 24000m’ /h

1 11-2-1
11-2-2
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20

11-2-4

n[%u

u\n
80

20

11-2-5
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1100°C
600°C 90

B
%

=0 UHRTHIH wxgen

Ry
B EERR)
11-2-5

20

10

8~11
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NO

X

11-3-1

11-3-1

100°C

100°C

NO

X

4% ~ 7%
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1400C

11-3-1

/mg m3 80 ~ 100 <50

<30

<20

<10 <5

/C 1100 1200

1250

1350

1450 1550

200°C

1280 -

900x10~4

800x1074 -

700x107*
600x1074 |

500x1074 |

NO,:/%

400x1074 +
300x1074 ¢
200x1074 -

100x1074 £
0

1320

11-3-1

11-3-2

1300}

1250}
1200+

H50F

R ¢

1100+

10501

1360 1400

®E/C

1440

NO,

1000

11-3-2

1200 1250 1300 1350 1400 1450 1500
BITGRA/ C

100 ~
150 ~ 300C



50 ~ 80mm

70 ~90%C
Qow
1% ~2%
t Qow
om0 0
1.
Quw  *100 kJ/m’ ¢ +24%C 11-3-2
11-3-2
/k} m~? 3000 3200 3400 3600 3800 4000
t b =1.10 /C 1211 1256 1303 1350 1395 1450
H, 05% 35C 20°C
2.
Qow t
11-3-3 1%
Qow 150k)/m’ 15% 1%
! 16°C
3.
Qow ¢ 11-3-4
1% Q v 325kJ/m’ ¢
23°C

1281 -



/%
/%

/%
/Y%
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bs=1.10
1600}
£
B 1500} bs=1.15
B 2
g
E
£ 14001
]
il
1300+
o1 5 10 15 20
BALFES%
OQup/klem® 3496 4095 4836 5589 6326
1y(bz=1.15)C 1298 1374 1458 1526 1580
15 (b2=1.10y'C 1320 1400 1484 1556 1619
11-3-3 Qow ¢ t  =35C
CO, CO H, CHy4 C,H, 0, N, H, 0 Qpw/k} m™3
14.90  23.70 3.30 53.10 5.00 3354
3.35 7.17 57.38  25.18 3.44 0.4 3.08 — 18221
1500
8]
g, 14001
g
&
b
g 13007
12000—; 3 5 7 910
) BARB % .
Oupk/m® 3676 4325 4914 5619 6590
tg(b==12)C 1297 1356 1405 1447 1497
ty(bs=1.15)C 1317 1377 1429 1474 1533
11-3-4 Qow 1
CO, co H, CH, C,H, H,S N, H,0 Qow/k} m™3
14.9 23.7 3.3 53.1 5.0 3354
0.04 0.07 0.11 96.92 1.17 0.50 1.19 — 35688



Q DW — Q DW
a =W 100 % 11-3-1
QDW - QDW

Qpwv— kJ/m’

Qow— kJ/m’

Qow— kJ/m’

Qpw = 3349k]/m’ Qpw = 18221kJ/m’ Qow
4700 kJ/m’
4700 - 3349
a —mx 100—9‘7%
30000m*/h
V. =30000x9.7% =2910 m’/h
3
1
2
20%
3
1 11-3-3
3
11-3-3 t C
/C 20 100 200 300 400 500 600 700 800
pw = 3000k} m~3 1211 1233 1263 1293 1323 1352 1385 1417 1449
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/% 20 100 | 200 | 300 | 400 | 500 | 600 | 700 800
Qpw = 3400k} m™3 1303 | 1328 | 1360 | 1302 | 1424 | 1458 | 1491 | 1526 1562
Qpw = 3800k} m™3 1395 | 1420 | 1451 | 1488 | 1524 | 1560 | 1596 | 1634 1673
H,05% b =1.10
800°C 100°C 30 ~35C
33C
2 t 11-3-4
)
11-3-4 t
/% 35 100 200 300 400

Qpw = 3000k} m~? 1211 1243 1293 1344 1398

Qpw = 3400k} m™3 1303 1333 1381 1429 1479

Qpy = 3800k} m™? 1395 1422 1467 1514 1561

H,0 5% b =1.10
100°C t 50C
3
Q by = 3400k]/m’
200°C t =1360-1303=57C 11-3-3

200C t =1381-1303=78C ¢ 57 +78=135C

11-3-5
1 —
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17001

1650 -

1600 -

15501

1500+

FHICAR R C
2 =
8 3B

1350}
1300}
1250
1200 . . . — : e —
50 100 150 200 250 300 350 400
BEHTHEEC
11-3-5
H,0 5% b =1.10 Qpy =3400k)/m’
10 *Pa
11-3-6
a
C
e t——— ¥ b c
1 2 3
L. | —
&
11-3-6
a— b— c—
1— 2— 3—
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2
300°C
1983 9
10
100 ~ 220°C
8.7%
11-3-7
2 1260m’
11-3-8
11-3-5

1
3
200°C
11-3-7
70 ~ 140°C 33°C
ERHOETE
R
— .
Rt
K - RESETRGE)
-
9
1998
11-3-5

/mmx /mmX /mm

4800 x 2500 x 4500

2300 x 2500 x 4200

2700 x 2500 x 4300

1286 -



/mm X mm $32% 3 $32%3 $32% 3
/mm X mm $89x 6 $89 x 6 $89x 6

/mm 3600 3300 3400
/mm 15 15 15
/mm 1.2 1.2 1.2
/mm 8 8 12 8 12
/ 19 19 19
/ 1160 504 618
/Nm* h~! 150000

/C 250

/C
/Nm?* h~! 71000

/C 30

/C 135
/Nm?* h~! 90000

/C 30

/C 135

ﬁﬁ%%

- M Joa-—— st

FIHE

> BN R

11-3-8
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1999 8 0
1030°C 1100°C 65
2 N
3 e * 1989
11-3-9
11-3-6
LRI
N5 = £
=Ha—
W JE 15
X
BIRAL BN
g -]
e " X ¢
11-3-9
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11-3-6 3
1 1 mm I\
1990 1990 1990 1991
26 6 ~ 8 10 35
5 5 6 18 ~8 26 ~3 31
/m* h~! 37290
/C 250 177.2 243.2 276.3 264.3
/C 130 121.1 131.9 130.3 145.9
/C 110 116.2 122.7 121.5 138.6
/C 170 130.2 158.1 155.4 164.9
/m* h~! 16370 15720 22150 21900 24700
/C 20 28.8 34.2 37.1 22.6
/C 150 117.9 145.6 141.0 149.0
/C 170 126.5 154.8 151.6 160.8
/C 110 111.4 124.2 104.4 131.3
/m* h~! 23760 13780 22080 19360 22460
/C 50 29.9 32.3 33.5 31.1
/C 150 121.3 147.2 143.7 144.0
/C 170 127.8 155.8 151.2 161.6
/C 110 112.5 123.3 116.3 136.8
/t h~! 24.6 22.4 20.43 21.8 28.4
/MPa 0.770 0.746 0.836
/MPa 0.970 0.946 1.095
/k} h™! 5985388 3525985 6643903 5846798 7491707
/C 1100 925 958 965 1020
110 ~ 140°C 60 ~ 100°C
@®
@
®
@
200°C
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20 70

11-3-10 11-3-11

11-3-10

i e
?L{ w EL{ B

S BhAR AL
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2 300m’

330C 280°C
1035°C 1102°C 3% ~19%
©)
&)
©)
@ 10%
®
4
11-3-12
FUR (B IR)
= T
11-3-12
1984 1
160°C 30C 100m’ /h
4 11-3-7
11-3-7
/% 8~20
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1200°C

1200 ~ 1300°C
1200°C
20 60
1200°C
3 113 ”
800 ~ 900°C 1200°C 30°C
10 1995
10 2580m’ 8
11-3-13 11-3-14
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60— —t— () ]

108

A
0

B fe)/
N} 60—wte—60
i 227,1////

Ll

7] B

]

Pk

ER

R

11-3-13

310

151617

ERKF

11-3-14

12—

11—

10—

18—

15— 16— 17—

14

13—

22—

21—

20—

19—

26—

25—

24—

23—

29—

28—

27—

10
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1260m’ 3 “ "
115000m* /h 10
2580m’ “ ”
90000m’ /h 3
200000m’ /h
80000m*/h
1260m’
2
3
11-3-8
140 ~ 150°C
11-3-8 10
/C 140 ~ 150
/m> h~! 336000
/°C 220 180°
/°C 130 ~ 150 20
/m> h~! 210000 /mm $89x3.5
/°C 40 /min X 6742 x 2730
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140 ~ 150°C

1000°C 600°C

6 600°C
400°C

88.9m’

Im’ 60m’

1200C

7 AC,

10
600 ~ 700°C

9 10 600°C

150°C 1200C 1000C
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11-3-9

1200°C
11-3-9
1996.07 ! i i N
1996.08 1996.09 1996.10.01 ~ 20 1996.10.21 ~11.05
/d 11 31 30 20 16
/C 226 400 500 558 608
/m* h~! 80000 85000 89000 92000 96000
/Pa 5500 6000 6500 6800 7000
/k} m~3 3063 2909 3115 3079 3001
/C 153 164 174 168 161
/C
1097 1170 1190 1202 1226
1268 1298 1325 1344 1378
1268 1298 1325 1344 1378
1134 1204 1227 1253 1275
1134 1204 1227 1253 1275
1097 1166 1190 1202 1226
/C
94 83 81 75 72
331 328 322 320 316
331 328 322 320 316
178 170 165 166 163
178 170 165 166 163
96 83 78 73 72
/C 1096 1172 1188 1206 1231
/C 1048 1137 1164 1185 1201
1997
1998 11
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11-3-15

EHRIE
m X‘G EHRRF
9 8
| | BR .
By 10
R, KL &
i -{(:> m =5 B %
R 15
m | | e i | A Hitha
23} @J 14 13% 12
] BB R ;
T X2 FRAIE
11-3-15 11BF

1— 2— 3— 4—
5— 6— T— 8 90— 10—

11— 12— 13— 14—

15— 16—
1000 ~ 1100°C
220 ~250°C 600C
W
2
@ 3.9m  33.03m
30000m’ /h 40000m’ /h 1000 ~
1100°C 11-3-10
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11-3-10

/mm 3900 /m* h~! 30000
/mm 33030 /m> h~! 40000
@ 11-3-11
11-3-11
/m* h~! 251197 /m* h~! 225000 ~ 230000
/Pa 4293 /C 220 ~ 250
/kW 500
5100mm ¢51 x 4 2577 2560mm
5100mm $51 x 4 2296
5100mm $51 x4 2475
11-3-12
11-3-12
X /mm X mm $51 x 4 $51 x 4
/mm 5100 2560 5100
/ 2577 2475
/mm X /mm $51 x 4 $51 x 4
/mm 5100 5100
/ 2296 2475
/m* h~! 160000 —
/C 20 —
/C 250 ~ 300 —
/m* h~! — 170000 ~ 180000
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/C — 40
/C — 250 ~ 300
/m* h~! 90000 95000
/C 600 600
/C 180 180
3 11
300C
3000 ~ 3200kJ/m’ 1150 ~ 1180°C
1200°C
b
b t
11-3-16 b
o \
1400} \l
P 2
il
b 3
®® 1300}
: \4
5 s
6
1200}
7
oo . ; ,
1.05 1.1 1.2 1.3 14
ZERMARE
11-3-16 b
1—: =600C 2—:¢ =500°C 3—: =400C 4—: =300C
5—¢ =200C 6—t =100C 7—¢ = Qo = 3400k} m~*
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11-3-17 b

b
b 1.10 1.05 ¢ 11-3-2 20°C
1500}
1400f
2
P 1
= 2
¥ 1300+
ﬁ
b 3
B
4
1200}
5
ool . . .
1.05 1.1 1.2 13 14
EEMARK,
11-3-17 b

1—: =400C 2—: =300C 3—: =200C
4—¢ =100C 5—: =
Qpy = 3400k]/m’

b 1.15 1.10 11-3-3

25~30%C
b 1.2 1.15 11-3-4
30°C
b
1
2
3
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11-3-13
H,0/% g m~? C0y/ % CO/ % H,/ % N,/ % Qpw/k} m™3
16.3 25.1 2.1 56.5 3398
2.5 20.1 15.9 24.5 2.0 55.1 3312
5.0 40.2 15.5 23.8 2.0 53.7 3223
7.5 60.2 15.1 23.2 1.9 52.3 3136
10.0 80.3 14.7 22.6 1.9 50.8 3061
10% 80g/m’ 1%  8g/m’  Quy
33.5kJ/m ¢ 8.5%C
Q =2296kJ/kg Im’ lg
2.3kJ 1% 2.3
x 8=18.4k])/m’ 1% Qow 51.9k)/m’
33.5+18.4 t 13C

_QDW+Q +0Q -0 11-3_2
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4
300m’
3 1200m’ 4 1350m’ 5
1260m’
Q
Q = F n- ¢ At kI/ 11-3-3
— .
n
p— kJ/ m* C
At——
Im’ 70 ~
90m*>  30~37m’/ m’ © min
1
Y= k[ 1 1+8°%s 1 H-3-4
as + 7, 3 s}’cp+k kE+2 Rz, +a22- 7
a2— kJ/ m*> h C
T, h/
k—
S m
y— kg/m3
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k]/ kg C

Ty
- h/
A— kJ/ m.h C
T=7,+7;
ay, kJ/ m* h C
AT
Ap 2 2t ot 11-3-5
s re <
t — C
t — C
¢ kl/kg C
S
11-3-18 9 1 17390m*> 3
18800m”
200
- 160
O
gg 120
o
g
= 80
ETS
40

I 1 ] yl
0.44 046 048 050 052 054 056
1&FFE R B /te(m3e min)™

x —3 O—1
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200 ~ 400C 100°C

-19

400

350+

EREE/C
T 8§ 8 3

—

(=3

<
T

v
(=]

30 60 9 120 150 180
RRGEES TEl/min

<

11-3-19

11-3-14

1304 -

40°C
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11-3-14

350 ~ 400°C 400 ~ 450C
500 ~ 600°C
500°C
1 300°C
2
3 150°C 60C
1200°C
3
1
2
3
4
8 3
2h 1h 90C
11-3-15
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11-3-15 8
/h /C /h /C
0.5 1400 1.5 1030
0.75 1100 2.0 1000
1.0 1090
11-3-15
2h 1h
50 ~70°C
4
30 ~ 40min 12 80min
76min 4min
8h 1~2
40min
100 %
_ i n‘ _
A W_”%W_W 100% 11-3-6
= W X ) -3 _
A— %
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60% ~ 70%

180°

60% ~70%

m/'s

m/s
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80
1 20 80

1984 11

30C 1990 11

2 80

11-3-20 3

1985

60% ~ T70% 80% ~90%

KR

1308 -

20



e
[\
1
W

© ® 0 6

1200°C
50 ~ 60mm 65mm
MSH -1
FN-130 FN - 140

2
230mm 345mm
115mm 230mm 115mm
3
100mm
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90%

+5%

3% ~ 10%

1310 -



c

me

¢

Qi =Va 70 Quw
V,— m’/h
T, h
Qow— kJ/m’
Q>
Q, =V, 7,0 cp bty — Cpe
L,— C
t——
te L k]/ m> C
Qs
Qs=V,: t: L) ey t,—cy L,
Li— Im’
,— C
cy Cre Ly L,
Q.
Q.=Vi B 1-Li- ¢ cf t—cg
V— m’ /min
z min
p—
L—— C
L—

t

e

11-4-1
11-4-2
11-4-3
11-4-4
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kJ]/ m* C

Ct Cro ty t,
S50 =0, + 0,4+ Qs+ 0Q, 11-4-5
Q'
Q= Ve B I=Li e ti-c t, 11-4-6
t— C
cq L kJ/ m* C
Q"
Q2=Vyz: Vbt —cgt, 11-4-7
v, —
t, —— C
¢, Cp t, L kJ/ m* C
b_
b =1.0
- 100_0.5(1:%(:’ ~ 0.5HY H-4-8
b <1.0
b =700+ 1.88 CO" + qu’1029.52CH5{ - 4.762Q¢ H-4-9
CO" H{ CH{
Qs
Q'y=V,; t; Vy b 126.36C0° + 107.85H; + 11-4-10
co® H— CO H,
4 Qs
Q's=Vy t¢ qu 4.186 100- ¢, +2256+1.244 ¢; t, —100 ¢, - 107°
11-4-11
UL
c. ¢ t,, 100 kJ/ m* C



10
11
12

Q's
s=e Gt -t T 11-4-12
6C— kg/h
c 4.186k])/ kg °C
T
t, C
Q'
Qs=7 Zq; A 11-4-13
A ; .
qi l kJ/ m* h
g=kt -t 11-4-14
Qe=k t —t. A; < 11-4-15
;I — C
k— E 544~62.8 kJ/ m* h C
0/7 0’6 Ty
Qrs Q’e [
Q% Q's z,
Q1 Q's
Q" Q'
AQ

AQ =30 - Q1+ Q'+ Q5+ + Q0+ Q'

_ Q1 — Qs+ Q7 + Q'
e S0 - 0.

x 100% 11 -4-16

Vz=%x100% 11-4-17
- Us
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72

Vo T B o b 100%  11-4-18
77 - Vm. Ty QDW + Cy’ tm + Ln. Ck. tk % 7 - N

1982 4 9 1
9 983m’ 3
25201 m? 76.9m”/m’ t $43mm
9 1981 10
1
9 1 4
4
0.025m’
13~15

11-4-2  11-4-3 11-4-3 11-4-4
1314 -



11-4-1 1982 4 13
/% /%
/
h | min Y e /C /1C IC €O Oy | CO| Ny [CO| Oy | CO| Hy | Ny
8 (30| 31000 | 35 | 4 18 1120 95
40 | 31000 | 35 | 4 18 1180 115 |25.8/2.2[1.2(70.8
50| 31000 | 35 | 4 18 1250 135
9 |00 31000 | 35 | 4 18 1250 155 |24.8/2.0| 1.8 |71.4/13.8/0.2(28.0| 2.9 |55.1
10 | 31000 | 35 | 4 18 1250 175
20 | 31000 | 35 | 4 19 1250 195
30| 30000 | 35 | 4 19 1250 215 [26.0| 1.4 1.4|71.2
40 | 30000 | 35 | 4 19 1250 235
50| 3000 | 35 | 4 20 1250 255 [25.6/2.0|1.0|71.4
10|00 | 29500 | 35 | 4 20 1250 275
10| 29500 | 35 | 4 20 1250 290
20| 29500 | 35 | 4 20 1260 305 [25.8|1.40.6(72.2
30| 29500 | 35 | 4 20 1260 320
10| 34| 29500 | 35 | 4 20 1260 335
30492 | 35 | 4 19.0 222 [25.6[1.8|1.2|71.4/13.80.2(28.0| 2.9 |55.1
10:34. 124min
11-4-2 1982 4 13
/C /c /C
h min /m* min~! A0
10 38 1760 96 1082 1248 20
50 1760 96 1102 1230 20
11 00 1760 96 1102 1218 20
10 1760 96 1099 1200 20
20 1760 96 1090 1186 20
30 1760 96 1080 1172 20
40 1760 96 1068 1156 21
50 1760 96 1064 1135 21
11 59 1760 96 1060 1120 21
1760 96 1085.4 20
11:59 81min
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11-4-3

1 2 3 4 5
/C 44.1 35.6 41.5 58.2 35.6 78 69.33
/C 19 19 19 19 19 19 19
/C 25.1 16.6 22.5 29.2 16.6 59 50.33
11-4-4
/m* h~! 13430 6080 15120 12170 11090 11090
/C 35 35 35 35 35
/C 38.2 37.5 36.9 37.0 36.7 36.8
/°C 3.2 2.5 1.9 2.0 1.7 1.8
124.3g/m’
.
11-4-5
11-4-5
Co, co H, N, H,0 0,

/% 13.8 28.0 2.9 55.1 0.2 100

/Y% 13.94 28.28 2.93 54.85 100

/% 13.16 26.70 2.77 51.79 5.58 100

35C W
=47.3
100 W
H,0= g x 100% 11-4-19
27 7803.6+ W
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100 x 47.3

H,0= g0y 4 3=5-58%
2.
Q3w =126.36x26.7 +107.85x2.77=3673 kJ/m’
3.
Vi=Ve+ b 1+0.00124¢, -1- L§ 11-4-20
1 L

L§=0.238 H; +CO" +0.0952CH; +0.o467( m +%) C, H; +0.0714H,S" - 0.04760;
m’/m’ 11-4-21
H; CO" CH; —
LE=0.0238x 26.7+2.77 =0.701 m*/m’

2 g
4 4.16g/m* g
=4.16gm’
3 L;
Ly=L§ 1+0.00124¢ 11-4-22

L;=0.701x 1+0.00124%x4.16 =0.705 m’/m’
4 Vo
V,=0.01 c0°'+3CH:+(m+§)cm- H +CO; + H; +2H,S + N; + H,0°| +0.79 1§
m’/m’ 11-4-23
Vy=0.01 26.7+13.16+2.77+51.79+5.58 +0.79%x0.701=1.554 m’/m’

5 b

21
0% —0.5C0¢ —0.5H% - 2CH?

Ny RO¢ + CO¥ + CHY
* C0;+CO +CH; + mC,H, +H,S

11-4-24

CO" CO; CH;—
C§ CO¥ CHf

21
1.8-0.5x1.2
51.79x 25.6+1.2

1366 +26.7

b =

21-79

71.4 -
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=1.141
V, =1.544+ 1.141 1+0.00124x4.16 -1 x0.701

y.

=1.6697 m*/m’

11-4-6
11-4-6
CO, 0, co N, H,0
/% 25.6 1.8 1.2 71.4 100
/% 24.6 1.73 1.15 68.60 3.92 100

. 100-H,0"
7 =100

g _4 -
o0 7 11-4-25

0.01 2CH; + H;0.51C,, H*S" + H, 0" +0.00124g - b - L§

o= bV
11-4-26
7—
7
H,0"—
b__
100
b=100-0.5x1.2-!-000
. 0.001 2.77+5.58 +0.00124x4.16x 1.141x0.701 _
H.0"= 1.006 x 1.6697 =3.92%
g = 19073922 0 9608

8:30~10:34 7, =124min  2.067h
10:38~11:50 7, =81lmin 7, 80min

1min
10:34 ~10:38  4min
2min 6min

Ar =6 min
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© v O ® 6

=7, +7,+Ar =124+ 80+ 6 =210 min
Vm Vf
V, =30492 m’/h

m

V;=1760 m’/min

L;
3% ~ 10%
Vi Ve
L (1 "y )x 100 %
= —_ (7
' Bx Vy
yo__P 1.867G. N, - N,,
b T 1440 * CO, + CO * N,
P— t
c0, CO— CO, CO
NZf NZm NZr—
G:— 1t kg/t
CO, CcO H, 0,
/% 13.6 26.4 2.9 0.4
/ % 13.86 26.91 2.96
/ % N,/ %
84.50 0.154
75.30 0.34
25kg/t 14.3%
1587t 500kg/t 45kg
V;=1760m’/min 4.33%

Ly
11-4-27
11 -4 - 28
N,
56.7 100
56.27 100
N>/ %
0.5

1319 -



500 x 0.845=422.51

45x0.753=33.89

0.0433 x 1000 =43.3

0.145x25=3.58

456.40 46.88
1t G
G =456.40 — 46 .88 = 409.52
@ 1t Vm
490.52x2?—é4
_ _ 3
Vi =01386 +0.2691 — 187 m /1t
@ N2r
N, =500x0.00654x2%é4=6.105
N, :45x0.0034><2%é4:0.296
6.391
6.391
N, =%t =0.34%
@V,
y 1587 1.867x409.52 0.5627-0.0034 400 0,

v 1440 ©0.1386 + 0.2691
® L,

0.79

L =(1-%) x 100%
=3.43%
1 Q1
Qv =V i Qo
=30492 x 3.067 x 3673
=231498039 kJ/
Q2
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Q, =V, 1 ¢y tm—Ce t.
=30492x2.067 x 35%x1.3600-19 x 1.3567
= 1373988 kJ/
3 Qs
Qs =V, L, C¢ t,-Cy 2,
=30492x2.067x 1.300x19-1.300x19 x0.705x1.141
=0
4 Qs
Qu=Vi B e 1-Li x ¢ ¢ —ci t,

=1760x0.86x80x 1-0.0343 x 1.3089x96-1.3048 x 19
=11801264 kJ/

5
20 =0, +0,+ 05+ 0,
=231.498+1.374+0+11.801
=244 .673 GJ/
1 Q'

Qv=Vi B ri 1=Li+ e ty—cg t,
Q') =1760x0.86x80x 1-0.0343 1.4302x 1085-1.3048 % 19
= 178662248 kJ/
2 Q'
Q' =V, Vb e, t, —cput.
=30492x2.067 x 1.6697 x 1.006 1.444 x222-1.3909 x 19
=31143931 kJ/
3 Q'
Qs =V, V.- b 126.36C0"+107.85 H;
=30492%2.067 x 1.6697 x 1.006 x 126.36x 1.15+107.85%x0
= 15384035 kJ/
4 Qs
Q4 =V, t: gu 4.186x l-e, +2256+1.244 ¢, t

Y,

=100 ¢; x107°
1321 -



=30492x2.067x77x 4.186 x 100-35 +2256+1.244 1.5237 x222

-1.5007x 100 x10~°
= 13405167 kJ/
Gui—— 124.30g/m’
47.30g/m’ 124.30 - 47.30=77g/m’
5 Q's 11-4-7
Q's=C G by =ty " T
11-4-7
/m> h~! 13430 6080 15120 12170 11090 11090
/C 38.2 37.5 36.9 37 36.7 36.8
/C 35 35 35 35 35 35
/h 3.5 3.5 3.5 3.5 3.5 3.5
/k]J 629614 122695 420894 356605 376215 292463 |2198513
Q’s=2198513 kJ/
6 Q's
Qs=K At; A; 7,
A— A;=45.24 m’
K— K 62.8
Q'y =62.8x50.33x45.24x1.333
= 190607 kJ/
7 Q' 11-4-38
Q;=3K At A, -
11-4-38
1 2 3 4 5
/C 44.1 35.6 41.5 58.2 35.6
/C 19 19 19 19 19
/C 25.1 16.6 22.5 29.2 16.6
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1 2 3 4 5
K /k}m™> h L ¢! 62.8 62.8 62.8 62.8 62.8
/h 3.5 3.5 3.5 3.5 3.5
/m? 124.2 106.4 173.5 192.8 313.8
Q'7/k} ! 685209 388220 858044 1237421 1144956 4313850

Q’, =4313850 kJ/
8 Qs
Q's=K Aty A; 7

A— A, =438.1
Qs =58.6x59x438.1x1.333

=2019078 kJ/
9 AQ

AQ =20 - Q1+ 0, +0Q 5+ Q4+0s+ Q6+ Q7+ Qs
AQ =244.673 - 178.662 +31.144 +15.384 +13.405+2.199+0.191 +4.314+2.019

= -2.645
11-4-9
11-4-9
Gl/ % Gl/ %
Q 231.498| 94.62 | Q' 178.662| 73.02
Q, 1.374 | 0.56 Q' 31.144 | 17.73
Qs 0 Q' 15.384 | 6.29
Q4 11.801 | 4.82 Qs 13.405 | 5.47
Q's 2.199 | 0.90
Q's 0.191 | 0.08
Q' 4.314 | 1.76
Qs 2.019 | 0.83
AQ -2.645| —1.08
Y] 244.673| 100 S0’ 244.673| 100
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Q-0+ Qs+ Qs

7 = S0- 0, x 100%
_178.662-11.801+0.191+2.019
B 244.673 - 11.801

=72.6%

_ er -0y
s, X 100%

_178.662 - 11.801

=244 673 - 11.801

=71.65%

x 100%

x 100%



